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Roll No. MM :40 Date:30.01.2019 M.O.

Q.1 Write the antonym of ‘Smile’

(a) happy (b) gay (c) scowl (d) quiet
Q.2 Full form of ‘Won't’

(a) will not (b) would not (c) were not (d) wast

Q.3 Write the synonym of ‘grumpy’

(a) powerful (b) ill tempered  (c) greedy (dogenatured
Q.4 Use the correct describing word.
Canyons.
(a) easy (b) active (c) clever (d) deep

Q.5 Find the word that describe sound like crashing

(a) wind (b) water (c) aeroplane (d) train
Q.6 Tick the correct spelling.

(a) interruption (b) interraption (c) intption  (d) interreption
Q.7 Use the correct form of the verb.

Yesterday | dosa in breakfast.
(a) eat (b) eaten (c) ate (d) eats

Q.8 Use the correct ‘noword’.

He is late to school.

(a) none (b) nowhere (c) nothing (d) never
Q.9 Hari was a child.

(a) intelligent (b) kind (c) foolish (Bully
Q.10 Use the correct word.

A of buffaloes was passing across the agiknack.

(a) flock (b) swarn (c) herd (d) band
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11 “3rF ATAT 39 Aqd” Hiddl & oW Hhid g ?

() ST (@) AT (1) IR F AR () WA @Arer gaey
12 “qgr” 2sq T WeY Y 41 gamm ?

() FHASS (@) °Wiher’r  (3T) TR (F) HGIS

13 “af geX ¥ fAwdT, 3R T IAT”, TE a1 HiT A §dT QT g1 ?

() 3FAT ST&ET I (@) ST 79T STfeT &r

(M) g - B A (o) 3T & g

14 “HT@ FAAT” HETaRX HT FeT 371 F2AT gram ?

(&F) €T o ol (@) 3HASET HIT (1) g 3T (&) T TgeeT
15 el oIl “Irer@fAger” s &7 g FAT § ?

(F) AT (@) 3calRTT  (3) HR/EIA (F) el
16 et ¥ AT F T Ty E 2

() et (@) s (1) et (|) T

17 A RU T qray H ‘I’ AsE hid-aT & ?

“ 378 hgal STeal T3 |
() 318 (@) Fear (a1) STedy (&r) 33
18 &S ARS JTell &dT I FAT Hed & ?

(F) fleaRd (W) BECUS diFd (31) gar Bswar  (T) 12T ARAYgs
19 ‘AfaF &1 foler Seame foran |

() el (@) #ferst (1) HATCIfeRsT (&) FATSIT

20 ‘AaT HAEY AT H Sioldr g ?

() Farh-Fdeh (@) FS - 71> (an) st-ait (&) =i, g
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Choose the correct answer and fill in the blanks

Q.21 2 paise = Re
a. 0.2 b. 0.02 c. 2 2d.

Q.22 We can make open cylinder by a

a. rectangle b. circle C. triangle d. pentagon

Q.23 The breadth of a rectangle is 4cm and iteeer is 20cm. Its lengthis __cm.

a.16 b. 24 c.6 d. 25
Q.24 1sq.m= sg. cm.
a.100 b. 10000 c. 1000 d. 0.100

Q.25 1metre = 1/1000 of a

a. km b. m C.cm d. mm
Q.26 The fencing of a square is 152 cm. The sidheotquare is cm.
a. 36 b. 38 c. 30 d. 48

Q.27 The width of a greeting card is 8 cm andnémas 112 square cm. The length of the

cardis __ cm.
a. 40 b. 36 c.14 d. 896
Q.28 216 =+ =18
a.l2 b. 20 c. 18 d. 20
Q.29 If a baby elephant drinks 12 L of milk evegydthen it will drink L of milk
in a year.
a. 4400 b. 400 d. 360 d. 4380
Q.30 If the side of a square is doubled, then tka af big square is times the

area of small square.

a. 4 b.3 c.2 10.
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Q31. When dams are built, vast area of land gagderwater, then we have to displace... ...

from there.
(a) Many land (b) Many air (c ) Many people Al of these
Q32. Jatrya Bhai come to Mumbai for getting..................
(a) Make life worsen. (b) Make life hard.
(c ) Better opportunity. (d) Nothing to do.
Q33. What things be useful for Jatrya Bhai in Mumidlaich he learn in khedi ?
(a) Making pots of clay and bamboo. (b) Playingdland dhol.

(c ) Catching fish and selling them in market. Adl)of these.

Q34. What is the main occupation of village pedple
(a) Private job. (b) They do nothing. (c) Farming (d) None of these.

Q35. On which date Pongal is celebrate
(a) 14 February (b) 14 January (c) 14 March ANbvember

Q36. Why did Hasmukh's son Paresh decided to hecla driver ?
(a)Because he observed the difficulty and loss in ifiagm
(b)Because his father want his son to be a truck drive
(c) Because his mother told him to be.

(d)All of above reasons.

Q37. How is farming easier now a days ?
(a)Because of technology and chemicals.
(b)Because crops grow just like that.

(c) Because crops are smart and they grow fast.
(d)I don't know.

Q38. Why is an earthworm called a farmer's friend ?
(a)Because they behave well.
(b)Earthworm soft and the soil by deep digging undetmenake tunnels.
(c) The eat garbage and turn it into compost.

(dB+C
Q39. What is the reason which reduce the fertdftgoil ?
(a) Growing same crop year after year. (b) Exosssof chemical in the fields.

(c ) We are not doing hard work in the fields. Ady B

Q40. What is the meaning of ‘Thresher’ ?
(a)A kind of stew.
(b)I have a tool used for pounding substance in a moto
(c)a machine used for separating grains from harvestazs.
(d)All of these.
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